- - <

- 25
- 29
- 38
-39
- 49
- 52
- 57

- 59
- 65

23






16 10

2.1
I &) I
| ) 21 |
v
I ®3) |
v
(O] 24 27
v
5)
2.1
22 3
NOx PM
LPG
1.7t 1.7 2.5t 2.5 3.5t 3.5 5.0t 5.0 8.0t

8.0 12.0t 12t



21

18

PM

NO, NO,
SPM SPM

98

SOx

NOXx

NOX
HCI

VOC HC



C))

24

27

27



NO, 3.1
(
A 4 v
ve— ] l ]
l ]
i"_'_'_'_iy _______________________________________________ v _"i
I I
I I
Lo - — — e D —————————————— —-d
'y 7'y
\4
NOX
< NOX
\4
| NOX
X o)
v
SPM
A SPM
| SPM
X o)
\4
NOX , SPM
e NOX NO,
NO,98% SPM SPM2%
NO, N0,98 SPM2%
3.1



¢ 3.3)

3.1
VOoC
SOx NOx PM HCI
(HC)
O O O O O
O O O O O
O O O
o] o] o]
O O O
O O o]
O O O O
o]
Jo
3.2
100m
50m 100m
50m
1000m
3.3
(3 5 ) 7 11 12 17 18 22 23 6
(6 8 ) 6 11 12 18 19 22 23 5
(9 11 ) 7 11 12 17 18 22 23 6
(12 2 ) 8 11 12 16 17 22 23 7
7 6:00 7:00




200m JEA

NOX
NOX

NOX

SPM

JEA

200m



SPM

SPM NOXx
19 20 ) (
) (
NOx
NO, 98% SPM 2
NO, 98%
NOx NOx NO,
98%
SPM SPM 2



3.2

3.1.1

17 (i |
( |
J H21
«— I
v
. — |
—[F17 |
1 . |
v
] |
[ ) ] | |
v
_ v v I (t) I
(km) " [ |
\ 4
| C kn) | T mz |
L v
— (o/kmy] | (kn/h) |
\ 4
@
—{ (JCAP ) [
| |
| |
. |
3.2
21
21 3.3



17 9
17 9
) 4 ) ( ) 8 )
v
R | 8 | 17
L2 (
v l 8 C ) |
17 8
H21/H17
< " 17 21
(
v | H17 H21 "
21 8
3.3 21
17
21
17 3.4
3.4 21
A 17
B 9 A4 L8
A
C ’1 17 H21/H17
A H17 - H21
D 21 A
C D H21/H17
£ 21 /17 ( 3.5 A
H17 - H21
1)
2) (D
3.5 21 17
1.379 0.944 0.985 1.034 0.808 0.808 0.911 1.000




17

22
21 3.4
3.6
21 21
(
, .
21 . | 21
| >
21
v
=
3.4 21
3.6
No
1) 2)
1
2
3
4 ()
1)6
2)6

10




24 27
3.5
21 8 17 32
( )
v
. H2d/H21 — H27/H21
A4 (
24 27
8
3.5
20 11 26 1-2
17 32
3.7
3.7
H24/H21|  0.9969 0.9958
26
H27/H21|  0.9939 0.9917 20 11 26
3.6
3.7
21 17 32
( )
v
H2d4/H21  H27/H21
v (
24 27
3.6

11

26



3.8

3.8
) 21
km/
2,052 7,490 151 742 373 677 1,928 404 13,817
715 1,660 32 249 70 117 183 58 3,084
2,767 9,151 183 990 443 793 2,111 462 16,901
2 24
km/
2,046 7,467 151 739 372 674 1,920 402 13,770
713 1,655 32 248 69 116 182 58 3,074
2,758 9,123 182 986 441 790 2,102 460 16,844
3) 27
km/
2,039 7,444 150 736 370 671 1,912 400 13,723
711 1,650 32 246 69 116 182 58 3,064
2,750 9,095 182 982 440 787 2,093 458 16,787
3.7

12




A

®

21
v
| |
< 8t
\ 4
I |
\4 *
v
3.10
X
A 4 *
| 3.11, 3.12 |
D )
2) )
3.7
20
NOx 28 30 0.4g/kWh
0.7g/kWh
SOx €O,
€O, 2.32tC0,/t 2.58tC0,/t 0.75
0.83 10ppm
PM 2007
EPA

13



1t

14

21

12t



.10

3.9

21
GVW12t

21

30 ( 21
21 )+22

(
c+b
21 b c
21 21
21 bx d d
( )
8 NOXx 3.11 PM 3.12

15




3.10 21
€9) (
0.0% 0.0% 24.8% 23.0% 52.2% 0.0% 100%
0.1% 0.2% 22.5% 27.3% 49.9% 0.0% 100%
1.4% 19.9% 33.6% 20.1% 25.0% 0.0% 100%
21 1.2% 13.8% 13.8% 34.0% 37.2% 0.0% 100%
1.5% 2. 7% 22.3% 47 .6% 25.8% 0.0% 100%
3.2% 0.9% 13.0% 36.7% 46.2% 0.0% 100%
3.1% 6.9% 32.6% 30.7% 26.7% 0.0% 100%
1.1% 4.1% 33.2% 32.6% 29.0% 0.0% 100%
&)
0.0% 0.0% 24.8% 23.0% 52.2% 0.0% 100%
0.1% 0.4% 22.7% 27.3% 49.4% 0.0% 100%
4.7% 22.2% 29.7% 15.9% 27.6% 0.0% 100%
21 1.2% 13.8% 13.8% 34.0% 37.2% 0.0% 100%
3.1% 5.7% 23.2% 43.7% 24.2% 0.0% 100%
3.9% 1.9% 14.2% 35.5% 44.5% 0.0% 100%
5.1% 12.7% 28.9% 28.8% 24.5% 0.0% 100%
1.8% 5.3% 31.5% 32.1% 29.4% 0.0% 100%
3
0.0% 0.0% 24.8% 23.0% 52.2% 0.0% 100%
0.1% 0.3% 22.6% 27.3% 49.6% 0.0% 100%
5.3% 12.8% 32.9% 28.4% 20.6% 0.0% 100%
21 1.2% 13.8% 13.8% 34.0% 37.2% 0.0% 100%
2.6% 4.7% 22.9% 45.1% 24.8% 0.0% 100%
3.6% 1.5% 13.7% 36.0% 45.2% 0.0% 100%
6.3% 12.8% 27.6% 31.4% 21.9% 0.0% 100%
1.8% 4.6% 29.9% 34.3% 29.3% 0.0% 100%
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3.11 8 NOx 21
(1) ( )

(km/h) EF(g/km)=a+b*V+c*V*V+d/V__V: (km/h)|

10 20 30 40 50 60 70 80 a b c d
0.0847 | 0.0538 | 0.0444 | 0.0412 ] 0.0412 | 0.0433 | 0.0470 | 0.0523 2.4791E-02] -1.9438E-04| 5.5285E-06| 6.1319E-01
0.0820 | 0.0524 | 0.0433 | 0.0401 ] 0.0399 | 0.0418 | 0.0451 | 0.0499 2.4620E-02] -1.8219E-04]| 5.0795E-06| 5.8702E-01
7.5806 | 5.6365 | 4.7675 | 4.2273 | 3.8666 | 3.6357 | 3.5132 | 3.4885 5.1271E+00] -5.7158E-02] 4.0014E-04| 2.9850E+01
0.1952 1 0.1578 | 0.1559 | 0.1668 | 0.1858 | 0.2116 | 0.2434 | 0.2809 1.0120E-01f 3.5801E-05| 2.5850E-05] 9.1065E-01
1.1207 | 0.7870 | 0.6574 | 0.5780 | 0.5181 | 0.4674 | 0.4215 [ 0.3782 5.3026E-01| -2.4423E-03| -5.2559E-06| 6.1543E+00
0.3574 | 0.2453 | 0.2027 | 0.1779 | 0.1608 [ 0.1478 | 0.1376 | 0.1292 1.6112E-01| -1.0144E-03| 3.6731E-06| 2.0608E+00
7.7934 | 5.8509 | 4.9136 | 4.3152 | 3.9225 | 3.6911 | 3.6020 | 3.6457 5.8559E+00| -7.8551E-02| 5.8449E-04| 2.6645E+01
5.7832 | 4.3303 | 3.6355 | 3.1041 | 2.9051 | 2.7348 | 2.6690 | 2.7002 4.2930E+00]| -5.7117E-02| 4.2566E-04] 2.0187E+01

) )

(km/h) EF(g/km)=a+b*V+c*V*V+d/V (km/h)|

10 20 30 40 50 60 70 80 a b c d
0.0847 | 0.0538 | 0.0444 | 0.0412 ] 0.0412 | 0.0433 | 0.0470 | 0.0523 2.4791E-02] -1.9438E-04| 5.5285E-06| 6.1319E-01
0.0853 | 0.0545 | 0.0451 | 0.0418 | 0.0415 | 0.0433 | 0.0466 | 0.0514 2.5851E-02] -1.8857E-04] 5.1610E-06| 6.0811E-01
7.1247 | 5.2885 | 4.4869 | 3.9879 | 3.6449 | 3.4094 | 3.2603 | 3.1872 4.6277E+00] -4.6009E-02] 2.9286E-04| 2.9277E+01
0.1952 | 0.1578 | 0.1559 | 0.1668 | 0.1858 | 0.2116 | 0.2434 | 0.2809 1.0120E-01| 3.5801E-05| 2.5850E-05] 9.1065E-01
1.1894 | 0.8307 | 0.6939 | 0.6119 | 0.5512 | 0.5006 | 0.4553 [ 0.4130 5.4350E-01| -2.2644E-03| -5.1500E-06[ 6.6903E+00
0.3957 | 0.2715 | 0.2244 | 0.1974 | 0.1789 [ 0.1651 | 0.1544 | 0.1460 1.7741E-01]| -1.1120E-03| 4.5120E-06| 2.2899E+00
6.8143 | 5.0939 | 4.3091 | 3.8115 | 3.4713 | 3.2452 | 3.1148 | 3.0707 4.7140E+00| -5.2960E-02| 3.5456E-04| 2.5945E+01
5.0922 | 3.8023 | 3.1998 | 2.8168 | 2.5596 | 2.3971 | 2.3159 | 2.3093 3.6376E+00| -4.4913E-02| 3.1731E-04| 1.8720E+01

3)

(km/h) EF(g/km)=a+b*V+c*V*V+d/V (km/h)|

10 20 30 40 50 60 70 80 a b c d
0.0847 | 0.0538 | 0.0444 | 0.0412 ] 0.0412 | 0.0433 | 0.0470 | 0.0523 2.4791E-02] -1.9438E-04] 5.5285E-06| 6.1319E-01
0.0838 | 0.0536 | 0.0443 | 0.0410 | 0.0408 | 0.0426 | 0.0460 | 0.0507 2.5302E-02] -1.8587E-04] 5.1279E-06| 5.9874E-01
4.2912 |3.1879 | 2.6939 | 2.3855 | 2.1778 | 2.0426 | 1.9679 | 1.9475 2.8963E+00| -3.2221E-02| 2.2140E-04| 1.6949E+01
0.1952 | 0.1578 | 0.1559 | 0.1668 | 0.1858 | 0.2116 | 0.2434 | 0.2809 1.0120E-01f 3.5801E-05| 2.5850E-05] 9.1065E-01
1.1666 | 0.8163 | 0.6819 | 0.6008 | 0.5404 | 0.4897 | 0.4442 | 0.4016 5.3917E-01| -2.3195E-03| -5.2198E-06[ 6.5115E+00
0.3800 | 0.2608 | 0.2156 | 0.1895 | 0.1715 [ 0.1581 | 0.1476 | 0.1392 1.7077E-01]| -1.0720E-03| 4.1753E-06| 2.1957E+00
3.7047 | 2.7571 | 2.3404 | 2.0779 | 1.8941 | 1.7640 | 1.6768 | 1.6270 2.4199E+00| -2.3674E-02| 1.4261E-04| 1.5073E+01
3.4901 | 2.6010 | 2.1947 | 1.9354 | 1.7563 | 1.6349 | 1.5617 | 1.5318 2.4018E+00] -2.7117E-02| 1.7682E-04| 1.3418E+01
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3.12 8 PM 21
(1) ( )

(km/h) EF(g/km)=a+b*V+c*V*V+d/V__V: (km/h)|

10 20 30 40 50 60 70 80 a b c d
0.0003 | 0.0017 | 0.0013 | 0.0007 | 0.0003 | 0.0003 | 0.0006 | 0.0013 9.6822E-03] -2.6820E-04] 2.1825E-06| -6.9383E-02
0.0009 | 0.0022 | 0.0017 | 0.0011 | 0.0007 | 0.0007 | 0.0010 | 0.0016 9.6457E-03] -2.5804E-04] 2.0999E-06| -6.3401E-02
0.3385 | 0.2600 | 0.2338 | 0.2207 ]| 0.2129 | 0.2076 | 0.2039 | 0.2011 1.8154E-01| -2.7654E-06] 2.1084E-08| 1.5700E+00
0.0014 | 0.0013 | 0.0011 | 0.0009 | 0.0007 | 0.0006 | 0.0005 | 0.0005 2.5415E-03] -5.1319E-05] 3.3972E-07| -6.5169E-03
0.0380 | 0.0287 | 0.0249 | 0.0227 | 0.0213 [ 0.0204 | 0.0200 | 0.0200 2.4206E-02]| -1.9579E-04]| 1.4925E-06] 1.5600E-01
0.0110 [ 0.0090 | 0.0075 | 0.0065 | 0.0058 [ 0.0054 | 0.0054 | 0.0056 1.1823E-02| -1.9896E-04 1.4912E-06] 1.0382E-02
0.2337 | 0.1756 | 0.1562 | 0.1465 | 0.1407 [ 0.1368 | 0.1341 | 0.1320 1.1752E-01| -1.5004E-06] 1.1439E-08| 1.1617E+00
0.1696 | 0.1273 | 0.1132 | 0.1061 | 0.1019 | 0.0991 | 0.0970 | 0.0955 8.5120E-02| -4.8565E-06] 3.6989E-08| 8.4541E-01

) )

(km/h) EF(g/km)=a+b*V+c*V*V+d/V_V: (km/h)|

10 20 30 40 50 60 70 80 a b c d
0.0003 | 0.0017 | 0.0013 | 0.0007 ] 0.0003 | 0.0003 | 0.0006 | 0.0013 9.6822E-03| -2.6820E-04| 2.1825E-06| -6.9383E-02
0.0016 | 0.0027 | 0.0021 | 0.0015 ] 0.0011 | 0.0011 | 0.0014 | 0.0020 9.8127E-03] -2.5278E-04] 2.0570E-06| -5.8468E-02
0.3539 | 0.2720 | 0.2447 | 0.2311 ] 0.2229 | 0.2174 | 0.2135 | 0.2106 1.9018E-01| -2.5712E-06] 1.9602E-08| 1.6379E+00
0.0014 | 0.0013 | 0.0011 | 0.0009 | 0.0007 | 0.0006 | 0.0005 | 0.0005 2.5415E-03] -5.1319E-05] 3.3972E-07| -6.5169E-03
0.0486 | 0.0368 | 0.0322 | 0.0296 | 0.0280 [ 0.0270 | 0.0265 | 0.0264 2.9404E-02]| -1.7986E-04| 1.3711E-06| 2.0892E-01
0.0144 | 0.0115 | 0.0099 | 0.0087 | 0.0080 [ 0.0075 | 0.0074 | 0.0076 1.3391E-02| -1.9153E-04| 1.4351E-06] 2.7920E-02
0.2679 | 0.2035 | 0.1820 | 0.1712 | 0.1648 [ 0.1605 | 0.1574 | 0.1551 1.3909E-01| -2.2830E-06]| 1.7405E-08| 1.2885E+00
0.1593 | 0.1198 | 0.1066 | 0.0999 | 0.0959 | 0.0933 | 0.0914 | 0.0900 8.0617E-02]| -1.4247E-05| 1.0851E-07| 7.8830E-01

3)

(km/h) EF(g/km)=a+b*V+c*V*V+d/V__V: (km/h)|

10 20 30 40 50 60 70 80 a b c d
0.0003 | 0.0017 | 0.0013 | 0.0007 ] 0.0003 | 0.0003 | 0.0006 | 0.0013 9.6822E-03] -2.6820E-04] 2.1825E-06| -6.9383E-02
0.0013 | 0.0024 | 0.0019 | 0.0013 ]| 0.0010 | 0.0009 | 0.0012 | 0.0019 9.7300E-03] -2.5496E-04| 2.0748E-06| -6.0642E-02
0.1910 | 0.1456 | 0.1304 | 0.1228 ] 0.1182 | 0.1152 | 0.1130 | 0.1114 1.0047E-01| -1.2571E-05| 9.5844E-08] 9.0654E-01
0.0014 | 0.0013 | 0.0011 | 0.0009 | 0.0007 | 0.0006 | 0.0005 | 0.0005 2.5415E-03] -5.1319E-05] 3.3972E-07| -6.5169E-03
0.0452 | 0.0342 | 0.0298 | 0.0274 | 0.0258 [ 0.0249 | 0.0244 | 0.0243 2.7727E-02| -1.8574E-04]| 1.4159E-06] 1.9153E-01
0.0130 | 0.0105 | 0.0089 | 0.0078 | 0.0071 [ 0.0067 | 0.0066 | 0.0068 1.2759E-02| -1.9451E-04| 1.4576E-06] 2.0868E-02
0.1611 [ 0.1223 | 0.1093 | 0.1028 | 0.0989 [ 0.0963 | 0.0944 | 0.0931 8.3457E-02| -3.4459E-06]| 2.6272E-08| 7.7716E-01
0.1054 | 0.0789 | 0.0700 | 0.0655 | 0.0628 [ 0.0610 | 0.0598 | 0.0588 5.2623E-02]| -1.2901E-05] 9.8262E-08| 5.2929E-01
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21 3.15 3
.15 21
t/ )
106 384 628 146 228 136 7,462 1,174 | 10,264
44 101 104 45 58 32 516 155 1,055
NOx 149 486 731 191 287 167 7,978 1,329 | 11,319
156 534 82 120 17 10 148 85 1,151
305 1,019 813 311 303 177 8,126 1,414 | 12,470
2 12 35 1 10 5 307 40 413
1 4 5 0 2 1 22 5 41
PM 3 16 39 1 13 7 329 45 454
0 0 2 0 0 0 2 1 7
3 17 42 1 13 7 331 46 460
26 96 2 9 5 9 34 7 188
9 21 0 3 1 1 3 1 41
35 117 3 13 6 10 37 8 229
2 8 1 1 1 1 8 1 21
SOx 1 2 0 0 0 0 0 0 4
3 10 1 1 1 1 9 1 26
45 118 59 80 26 22 566 78 993
28 61 11 39 7 5 53 12 216
(\1_|OCC) 73 179 70 119 33 27 618 89 1,209
250 846 8 174 11 10 10 13 1,322
323 1,025 78 293 44 37 629 102 2,531
3.16 21
(t/ )
PM VoC
SOx NOx HCI (HC)
12,098 29,510 1,499 2,566
26 12,470 689 2,531
2,147 3,973 322
13 1,451 73
( 7 689 65
15 1,194 44
15 4,466 202 556
33,858
14,321 53,753 2,895 2,566 36,945
PM
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